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Term End Examination, 2021-22
FINANCIAL ACCOUNTING
(Group-A) (Paper-I)

Time : 3 hours] [Maximum Marks : 75

Ae—  qH gt & I A | TH g9 B STk GHIT &

Note : Attempt all questions. All questions carry equal marks.
s®I5—1/ Unit-1

1. @I STIURONS & AT /T F9d &2 el IR &l a1y |

What do you mean by Accounting Concepts ? Mention any four.
arerar / OR

f=falRaa sgaerl & To-ma ° fafgu—

Journalise the following transactions :

(1) A3 @l T&OAT WX A1 % 2,500 A i s |

Paid ¥ 2,500 in cash as wages on installation of machinery.

(2) et g+ # f&&@r 22,000 |
Goods given as charity % 2,000.

(3) % 70,000 &1 GSit WX 7% I & & AT AT AT |
Interest charged on capital @ 7% p.a. when total capital were T 70,000.

(4) T 1,200 T 3o %97 {5 fUeed 9o Stqrer /1 &Y FHIST T fear wa ar g ga |
Received % 1,200 of a bad debts written off last year.

(5) &AW | % 2,000 T AT & & |
Goods destroyed by fire ¥ 2,000.

(6) ST foRrar % 1,000 |
Rent outstandings ¥ 1,000.

(7) SATETT 9 = T 900 |
Interest on drawings T 900.
(8) % 6,000 ART T AT HEH e TUE T Pl AN & 10% 3ATeh T&qT 5% AMMRE B & Joidh

I TR <= |
Goods sold costing % 6,000 to M/s Kalu & Sons at an invoice price 10% above cost less 5%
trade discount.

[P.T.O.]
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(9) TR HAR 18 &6 % 3,000 7 SUR T o7 o1 Rofa § 7€ § | 98 9 # dhaw 45 UH #1 &

I BT 1T |

Sudhir Kumar who owed me ¥ 3,000 has failed to pay the amount. He pays me a
compensation of 45 paise in a rupee.

(10) % 2,000 AT I T AT 10% AR T2 AR 5% Fha <1 U AT bl ST 47 | Iq

ST fa 9 Y fea |
Sold goods to Leela list price ¥ 2,000 trade discount 10% and cash discount 5%. She paid
the amount on the same day.

gHIS—II / Unit-II
T AT & dd9e &l 459 T T 3T STeel b BRI Sa=d @0 § shise &Y a1 1ar | 91E |
FTTehe TSIl T I =il | fE-FHUR o W HIITT, 3T ATH-BIH @Td I THE Tehe BTy
AT Id~d drdl gdIgsU—

(1) feor arast &t @61 aET 50 % F forar @)

(2) 9ed & @i § 512 % e i & M W 39 @d & sfae 7 215 ¥ fog faa

(3) 2,000 % I A Tl T T THHT @l T T&Ih H AT T |

(4) 172 % &I Tkl 7 in foshr @ra | 217 ¥ 3 faar )

(5) THST @I 41 X & B & e W 9% @ 9 dad 14 3 21 fod T |

(6) 9379 9 100 T BT AT T U SHH! J@T &9 @I § &l (a1 T |

(7) 50 % %1 TUR fo3hd, 9epa @1 o hise fhar Tar 9 [y <er @ § T iz foar @ |

(1)
)
3)
4
)
(6)

(7

The difference of Trial Balance of a Trader ¥ 459 has been credited into Suspense Account.
Later on following errors were discovered. Pass the necessary rectifying entries, open
Suspense Account and show the effect of rectifying entries on Profit & Loss Account.
Total of sales returns book was undercast by ¥ 50.

Instead of crediting ¥ 512 in Mohan’s account, ¥ 215 were debited in his account.

A machinery of ¥ 2,000 was purchased but was recorded in purchases book.

A sale of ¥ 172 was recorded in sales account as ¥ 217.

A discount of ¥ 41 was allowed to Ramesh, but in his account only ¥ 14 were recorded.
Depreciation of ¥ 100 was charged on a machinery, but it was not recorded in depreciation
account.

A credit sale of ¥ 50 has been credited to sales account and also to the sundry debtors
account.

arerar / OR

Ho A $=H & gEIRl § 31 91 2019 & Fr=ifeiad 99 Igga v /-
The following balances are extracted on 31st March, 2019 from the books of M/s Rajul
Traders :




R Theel
(Opening Stock)
[BER]

(Sales)

|

(Purchases)

FHIFAT X AferT
(Coal & Power)

REAl

(Wages)
qHT g

(General Expenses)

H TG G

(Tax & Insurance)

AR (o)
[Discount (Dr.)]

Sad FIT STl

(Provision for Bad Debts)

FHIT (i)

[Commission (Cr.)]

FR & A
(Car Expenses)

HE]

(Donation)

[31]

3

16,200 i&ﬁ
(Capital)

65,360 3TTET9T
(Drawings)

47,000 99
(Building)

2,240 H=
(Machinery)

7,200 e
(Debtors)

2,500 Wqe®
(Creditors)

1,315 =91
(Loan)

550 A1 HR
(Motor Car)

900 <7 fae
(Bills Payable)

1,320 eher
(Cash)
1,800 < srferferere
(Bank overdrafts)
105
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24,500

2,000

11,000

9,340

6,280

2,500

7,880

2,000

3,850

80

3,300

=1 FETESTEeT & 91e 31 9, 2019 & g9 84 arel a9 & oy Sifvay @ d9ur g —

(1) 160 % IIq FI7 % UG HINT TG HERT T 5% Iad FO7 % [T Y€ R |
(2) FfE WX 10% 3R "X HR W 12% STF&or &1 0T i |

(3) 750 T FOT U AT AT SThT B |
(4) 250 T 9fq a9 eETaRd &k Uk & i TR & &l Hyaa fhar |

(5) ®R & =TT JAT &G H 1/3 907 W@ b @rd B @ S |
(6) 31 A, 2019 T geifhd @b 23,500 X 2|

(1
2)
3)

accounts, the following adjustments :
Write oft ¥ 160 for Bad Debts and make provision for Bad debts @ 5% on debtors.
Depreciate machinery by 10% and Motor Car by 12%.
Interest of ¥ 750 is outstanding on loan.

Prepare the Final Accounts for the year ending 31st March, 2019, after taking into
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(4) It was decides to transfer ¥ 250 every year to charity fund.

(5) 1/3 of car expenses and depreciation amount is to be transferred to owners account.
(6) Stock valued on 31st March, 2019 was % 23,500.

P13 —I11 / Unit-111
TT-TF WTAT TR NIt T @Tar a1 JeT [aQoarsti &1 o &1 |
Explain the basic features of income and expenditure account and receipts and payments
account.

31erar / OR

1 3T, 2016 I =t 3fHT 7 TH TRA-C 90, 1,35,000 I T T &1 | Ig STTAM mar 747
A3 5 9 T SUART H ST 3R 5 a9 &7 T U IHebT AT o 35,000 T BT | AP
! T & o1 4% 9fc ad &6t X & fafaiet sed 80 Ueh SMe i 1 GoT- {har 1T | gi=d
9 & = | faf=er 81,700 % 9 &= faw 1w | [T ®es arfeert & FTaR 4% arfties & ®
0.18463 T fqad &1 fafranT 5 auf & are 1 3 < | /i @, [T ws @rar qon [&ieT ws
fafanT @ dar #ify (ET e T | Hif) |
On 1Ist April, 2016 Sri Ankur purchased an X-Ray Machine for ¥ 1,35,000. It is expected
that machine will remain in use for 5 years and then scrap value will be ¥ 35,000.
A sinking fund created to replace the machine by investing at 4% per annum. At the end of
the fifth year investment was sold for ¥ 81,700. As per sinking fund table at 4% interest an
amount equal to ¥ 0.18463 should be invested every year to receive one rupee after 5 years.
Prepare Machinery A/c, sinking fund A/c and sinking fund investment A/c (Calculation
should be made to the nearest rupee).

sHIs—1V / Unit-1V
T AT fohed YA Tgfl TR T4 AT &, TG shall ST [k ! Il | i & a1 o fhd
RIS

When goods are sold on instalment system. What accounting records are made in the books

of the buyer and seller ?
Jrerdr / OR

A ¥ T AS{ FRTEAT-SR degid W 20,000 T H 37 T | [T o <l I [T ST &r—
A purchased a machinery on hire purchase system for ¥ 20,000. Hire purchase price is paid
as under : 4

& W (On delivery) 5,200
qeq a9 & I H 3,200
(at the end of first year)

fada ad & o= | 5,000
(at the end of second year)

g ad & o= | 6,600

(at the end of third year)
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Fohe 4T T 10% 9T a9 =&t & ST Iugerd Tl | SmiHa & | 990 W 9 @nrd 1 10% gt
Y BT ARG fhaT ST & | Toha Iod MehTialy 3T FRRTaT-ha el 6l J&ehl | a9ah @i
=T |

Interest on cash price is 10% per annum, which is included in the above instalments.

Machinery is depreciated at 10% per annum on the original cost. Calculate the cash price
and make necessary accounts in the books of Hire-purchase.

gBI5—V / Unit-V
QISR & T 1 T ST &7 T e § 6F I Tehl 9 -9 W@ieh o [ohd ST & 7

What is meant by partnership dissolution ? What account record is made on dissolution of
partnership ?
3erar / OR

P, Q T4T R RS 4 :3 :2 % U § oW g BT+l & died Y a1 30,000 ¥, 20,000 ¥ T&
10,000 % ¥ STt & ATEERT | 1 319, 2019 1 9o 8T 1 1 3799@, 2019 I, fafer {rg T =i
3Tq HAHTT & FHIIA 1 9= fohaT, et @il Ud afde Far d— wriade e
1,000 Z, fafaer 3er 28,000 %, 9reg faet 5,000 2, =fhk 45,000 2, fafaer @9er 30,000 T qer
3T faet 4,000 % |

P wf® & 10% & I T A AR 3 ol BT G i & [0 Toi g3l | Q J&ieid o1l b
20% % I W W AR ATGRT &1 A HE & a7 Toi gl | R 7 9y it 4,877 3 4 @
FREN g 10% & 8| 9 [ | I&eh qreler & @rd § SHhl Yoil W 5% =TT ST
S | I WTT Q9T ATSERT & Yot @M 3R a9 § @19 ST Sl & Gl b a9
TU T% @Al 91 BT |

P, Q and R entered into partnership on April 1, 2019, sharing profits and losses in the
proportion of 4 : 3 : 2, respectively and with capitals of ¥ 30,000; ¥ 20,000 and % 10,000.
Their assets and liabilities on April 1,2019, the date on which they decided to wind up their
affairs, were as follows — office fixture ¥ 1,000; Sundry Debtors ¥ 28,000; Bills receivable
% 5,000; Stock ¥ 45,000; Sundry creditors ¥ 30,000; and Bills payable % 4,000.

P agreed to take over the stock at a discount of 10% and pay off bill payable. Q agreed to
take over the book debts at a discount of 20% and pay off the creditors. R took over the bills
receivables at ¥ 4877 and office fixture at a depreciation of 10%, 5% interest is to be
credited to each partner on his capital.

Prepare Realisation Account and Capital Accounts of the partners and an account showing
adjustments of profits or losses in the business.

4000



